SECTION A : MULTIPLE CHOICES QUESTIONS ( 40mks).

1. Treatment of CTEV. Should begin.

A. Soon after birth.

B. After discharge from hospital.

C. After one month.

D. After two years.

2. Most important pathology in club foot is.

A. Calcanium fracture.

B. Lateral derangement.

C. Tightening of talonavicular dislocation.

D.  Congenital talonavicular dislocation.

3. In a newborn child , abduction and internal rotation provides a click sound , it is known as .

A. MC. Murray's sign.

B. Lachmans sign.

C. Telescoping sign.

D. Ortalanis sign.

4. Bone dysplasia is due to .

A. Faulty nutrition.

B. Faulty development.

C. Trauma.

D.  Para thyroid tumours.

5. Cause of congenital pseudoarthrosis is.

A. Unknown cause.

B. Fibrous dydplasia.
C. Neurofibromatosis.

D. Neuro-Vascular damage.

6.Not associated with osteogenisis imperfecta is.

A. Blue sclera.

B. Cataract.

C. Deafness.

D. Fractures.

7. A child with multiple fractures is suffering from .

A. Rickets.

B. Scurry.

C. Hypoparathyroidism.

D.Osteogenisis Imperfect.

8. Sclerosis of bone is seen in all except.

A. Fluorosis.

B. Hyper parathyrodism.

C. Osteoporosis.

D. Secondary 's from prostrate.

9. Bone sequestrum is commonly associated with .

A. Tuberculosis.

B. Non -specific chronic osteomyelitis.

C. Pyogenic  Osteomyelitis.

D. Sympylitic arthritis.

10. Which of the following is a diagnostic test for acute hematogenous osteomyelitis.

A. Plain x-ray .

B. Blood culture.

C. CT. Scan.

D. Clinical examination.

11. Non- healing sinus is a common clinical feature in chronic osteomyelitis, the most common frequent cause for this presentation is..

A. Resistant organisms.

B. Retained foreign body.

C. Presence of sequestrum.

D. Intra osseous cavities.

12. Which of the following terms is inappropriate to the condition of osteomyelitis.

A. Cloacae 

B. Involucrum.

C. Sequestrum.

D.  Myelocode.

13. Which nerve involves epiphyseal plate.

A. Tuberculosis.

B. Osteoclastoma.

C. Acute Osteomyelitis 

D. Osteochondroma.

14. Actinomycosis is commonly seen in.

A. Tibia.

B. Mandible.

C. Scapula.

D.  Femur.

15. Paravertebral mass includes all except.

A. Tuberculous abscess.

B. Nenofebroma.

C. Oesophageal varices.

D. Derimoid cyst.

16. Vitamin c deficiency leads to.

A. Defective mineralization.

B. Defective Osteoid formation.

C. Normal collagen and bone matrix.

D. X- ray shows normal evidence.

17. Paget's disease is .

A. Begins as an osteoblastic .

B. Is painless.

C. Is rare under the age if forty.

D. Does not affect bones signly.

18. Calatonin is used in the treatment of .

A. Post menopausal osteoporosis.

B. Malignant hypercalcemia.

C.Paget's disease.

D. Rickets.

19. Bony ankylosis is caused by.

A. Tuberculosis arthritis.

B. Rheumatoid arthritis.

C. Pyogenic arthritis.

D. Osteoarthritis.

20. Not a complications of menopause.

A. Colles fractures.

B. Fractures spine.

C. Fracture neck of femur.

D. Spra- condylar fractures humerus.

21. The most common cause of kyphosis in male is.

A. Congenital.

B. Tuberculosis.

C. Trauma.

D. Secondaries.

22. Para- articular erosion is most commonly seen in.

A.Osteoarthritis.

B. Rheumatoid arthritis.

C. Gout.

D. Acute suppurative arthritis.

23. Bamboo spine is seen in the .

A. Tuberculosis.

B. Rheumatoid arthritis.

C. Gout.

D. Ankylosing spondylosis.

Osteo- arthritis does not affect.

A. Knee joint.

B. Hip joint.

C. Inter phalanges joint.

D. Metaphangeal joint.

25. Tertiary sympilitic arthritis most frequently involves.

A. Spine.

B. Hip.

C. Ankle.

D. Knee 

26. Pseudogout has crystal of.

A. Sodium pyrophosphate.

B. Monosodium urate.

C. Calcium pyrophosphate.

D. Sodium urate.

27. About urether's  disease  which is not true .

A. Conductivities.

B. Ulcers on palm.

C. Interstitial.

D. After sexual contact.

28. Arthroscopy is contraindicated in .

A. Chronic joint disease.

B. Loose bodies.

C. Hemophilia.

D. Meniscal tear.

29. Sudden attack of acute pain in great toe is due to.

A. Rheumatoid arthritis.

B. Gout.

C. Rheumatic fever.

D. Psonatic arthritis.

30. Avascular necrosis occurs due to fractures of.

A. Medical Femoral epicondyle.

B. Olecranon.

C. Tallis .

D. Fibula.

31. Commonest benign tumour of the bone is .

A.Osteoma.

B. Osteochondroma.

C. Osteoid Osteoma.

D. Chondroma.

32. Sunray appearances is seen in .

A. Osteogenic Sarcoma.

B. Ewing's Sarcoma.

C. Multiple Myeloma.

D. Osteaclastoma.

33. The commonest cause of limp in a child of seven years is .

A. TB.

B. CDH.

C. Perthes disease.

D. Slipped upper femoral epiphysis.

34. Which of the following is inflammatory arthritis.

A. Rheumatoid arthritis.

B. Osteoarthrisis.

C. Osteochondritis.

D. Gout arthritis.

35. Most reliable method for detecting bony metastases is.

A. MRI.

B. CT. Scan .

C. Radiography.

D. Ultrasonography.

36. Rare site metastasis in bone .

A. Skull.

B. Spine.

C. Upper end of humerus.

D. Osteo clastoma.

37. Treatment for chronic cases of club foot is.

A. Triple arthrodesis .

B. Dorso-medial release.

C. Amputation.

D. Physiotherapy.

38. Phocomelia is best described as.

A.Defects in development of bones.

B. Defect in development of flat bones.

C. Defect of cartilage replacement.

D. Defect of intramembranous ossification.

39.Marble bone disease is.

A. Osteitis fragilis.

B. Osteopetrosis.

C. Osteosarcoria.

D. Paget's disease.

40. Sequestrum is.

A. Piece of nfected bone.

B. A piece of dead bone.

C. Organized inflammatory exudates.

D. Segregated marrow tissue.

SECTION B. SHORT ANSWER QUESTION  (40mks).

1. List five indications of amputation .

2. List five contraindications of amputation.

3. Mention five complications of chronic osteomyelitis.

4. Name five cause of the neurological disorders.

5. List five methods of treatment available in cerebral palsy.

6. Name five types of arthritis.

7. Outline five cause and management of spins bifida.

SECTION C. LONG ANSWER QUESTIONS. (20marks).

1. Discuss management of Pott's disease ( TB spine).under the following headlines.

Definition.(2mks).

Clinical feature.(4mks).

Investigation.(4mks).

Treatment.( 5mks).

Complications.(5mks).

